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.begin
.org O
sethi arrl, %rl
srl %rl,10,%rl ! 2rl begin address arrl (source)
sethi arr2, %r2
srl %r2,10,%r2 ! r2 begin address arr2 (destination)
loop: 1d([%rl], %r3 ! element of array in %r3
addcc %r3,%r0,%r0 ! check status; result in %$r0 (no change)
be ready
bneg skip ! skip negative number
st %r3, %r2 ! copy element
addcc %r2,4,%xr2 ! next address in arr?2
skip: addecc %rl,4,%rl ! next address in arrl
ba loop
ready: st %r0, %r2 ! write terminating O
halt
.org 100
arrl: 12, -4, 9, 8, =23, 9, 0
.org 200
aArr2:
.end
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